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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]

500 :
—@— setVI_ETcl A
—0— setVIl_fgRec
00T o setvi WN
—@— sl|SetVI R A NgoOOEOSSISS
300 [ . _
' o RSIAVARR
200 L | o o®®
/\ 2 § 514090 6000 6-004- 140005054 b IS5 40
.\ V2. 98 700 ~ e
100 RS T LY Caaad ¥
et 2 e sl F Vo
0 10 20 30 40 50 60 70




1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VI _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VO _pcterr’] missing

0.0

0.2 0.4 0.6 0.8

1.

1.0

0.8

0.6

0.4 A

0.2 A

0.0

Warning: col ['VN_pcterr’'] missing

0.0

0.2 0.4 0.6 0.8

1.




Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-6_0
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P3-6

BfiE) | GEBATK (RY) | EHRE (EAH/K) | ERERE (B/R) | XS ERE

07:15 273 150.0 2. 583 BE|  FiTe07:15 REEF (REFRE)
07:45 273 150.0 2.583 & FHR@07:45 KEFEF (REERSE)
08:15 273 150.0 2.583 5 FiHpe08:15 KEF2F (RHEEREE)
08:45 273 150.0 2.583 5 FHA08:45 KRENFZF (KAL)
09:15 273 150.0 2.583 5 FHA@09:15 KENFEF (REERSE)
09:55 273 150.0 2. 583 & FiHR@09:55 KENFEF (REEREE)
10:30 273 150.0 2.583 i HA@10:30 KREFZF (REERSE)
11:05 273 150.0 2.583 & FiHdAe11:05 KEFEFE (REAERSE)
11:35 273 150.0 2.583 = FiHA@11:35 REIEF (GREERSE)
12:05 273 150.0 2.583 5 FnfRe12:05 REEF (REFERSR)
12:35 273 150.0 2. 583 & FiHpe12:35 KHEFEFE (REAERSE)
13:05 273 150.0 2.583 & FHR@13:05 KENFEF (REERSE)
13:35 273 150.0 2.583 i FiHe13:35 REFREF (REERES)
14:05 273 150.0 2. 583 & FiHAe14:05 KEFEFE (REAERSE)
14:40 273 150.0 2.583 & FHR@14:40 KREFEF (REERSE)
15:15 273 150.0 2. 583 i FHfe15:15 REREF (REERES)
15:55 273 150.0 2. 583 & FiHAe15:55 KEFEFE (RAERSE)
16:40 273 150.0 2.583 & FHR@16:40 KREFEF (REERSE)
17:35 273 150.0 2.583 & FiHR@17:35 KEFEF (REERSE)
2it]5187.0 (190%) 2850.0 3Z i HKEC: 2080.0, PH: 5.8

[E;&EC 7739.0 K5, EiNF{KECAE & M%ER
#HEKECE (1877.0 vs 7739.0) 5




FRV (ml plant-1)
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P3-6_0, Day=70 (2025-06-07)
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P3-6

BfE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:05 273 150.0 2.583 5| 1RiR@06:05 Bz (KRFEAEES)
06:35 273 150.0 2.583 = {Ri%@06:35 Bz (RAERSE)
07:15 273 150. 0 2.583 E BRi&e07:15 Bzl (GRAERESE)
07:55 273 150.0 2.583 5| {Ri%@07:55 Bz (FRAERSE)
08:30 273 150.0 2.583 = {RRiB008:30 B (FRFAfREE)
09:00 273 150. 0 2.583 E 1BRi&@09:00 Bzl (RAEREE)
09:35 273 150.0 2.583 5| {Ri%@09:35 B3 (FRAMERSE)
10:05 273 150.0 2.583 =l RRi8@10:05 Bz (RFAEESE)
10:35 273 150.0 2.583 = {RRiB010:35 Bz (REAEEE)
11:05 273 150. 0 2.583 S {Ri%e11:05 Bz (RAERSE)
11:35 273 150.0 2.583 =l {Rige11:35 B3 (RAERSE)
12:05 273 150.0 2.583 S| {Rige12:05 B3 (REAERSE)
12:35 273 150. 0 2.583 E| {Rige12:35 Bzh (RE{ERESE)
13:05 273 150.0 2.583 5| 1RiR@13:05 B3 (REAERESE)
13:35 273 150.0 2.583 S| {Ri%@13:35 B (RAERSE)
14:05 273 150. 0 2.583 E BRige14:05 Bz (GRAERESE)
14:35 273 150.0 2.583 F BRige14:35 Bz CGRAERESE)
15:05 273 150.0 2.583 | 1RiRe15:05 B (REERSE)
15:35 273 150. 0 2.583 E BRi&e15:35 Bz (GRAERESE)
16:05 273 150.0 2.583 5| {Ri%e16:05 B3 (FRAMERSE)
16:35 273 150.0 2.583 = RRiB016:35 B (RFAKESE)
17:05 273 150. 0 2.583 El BRige17:05 Bz (GRAERESE)
=it 6006.0 (22)%) 3300.0 EWHKEC: 2080.0, PH: 5.6

[E;&REC 7468.0 K5, EiNF{KECAE & M%ER
#[EKECE (1820.0 vs 7468.0) 15
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P3-6_0, Day=69 (2025-06-06)
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m=495, FV0=0

Warning: col ['M_E'] missing

0.2

T T
0.4 0.6 0.8

m=630, FV0=0

—_

—o—

M_E

630

655 6&0
m=755,n FV0=0

—o—

M_E

755

760 7é5
m=875,n FV0=0

—O—

M_E

875

880 885




m=910, FV0=0 m=945, FV0=0 m=985, FV0=0 m=1045, FV0=0

—o— ME —o— e | 2687 —o— ne | 2707 —o— ME
26. 4 26. 6
26. 8
26. 6
26. 2 26. 4
26. 6
26.0 26.2 2.4
’ ’ 26. 4
25.8 1 26.0 26.2 4 26. 2
25.6 25. 8 26. 0 26. 0 A
T T T T T T T T T T T T
910 915 920 945 950 955 985 990 995 1045 1050 1055
m m=435,m FV0=0 m=465,m FV0=0 m=495,m FV0=0
1.0 1.0 1.0
0.8+ 0.8 4 0.8 +
0.6 - 0.6 - 0.6 -
0.4 - 0.4~ 0.4 -
0.2+ 0.2+ 0.2+
Warning: col "MW ] missing Warning: col "M W ] missing Warning: col "M W] missing
T T T 0 0 T T T T 0 0 T T T T 0 0 T T T T
600 800 1000 0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.
m=545,m FV0=0 m=585, FV0=0 m=620, FVO0=0 m=630, FV0=0
43.8 7 —o— MW —— MW —o— ww | %77 —e— wmuw
1 41. 8 A 39. 8 4
43.7 39 6 4
43. 6
41.6 i
39.6 - 39.5
43.5
i 39. 4 A
434 41.4
39. 4
| 39. 3 -
43.3 41 2 4
43. 2 39. 2 A 39. 2 A
545 550 555 585 590 595 620 625 630 630 635 640
m=665,m FV0=0 m=695,m FV0=0 m=725,m FV0=0 m=755,m FV0=0
39. 8 - MW 40. 3 A . MW 40.9 + - MW 41.6 . MW
40. 2 40. 8 A
39. 7 41. 4 1
40. 1 A 40. 7 +
39. 6 40. 0 A 40. 6 41. 2 A
39. 9 A 40. 5
39.5 ~ 41.0 A
39. 8 A 40. 4
39. 4 A 39. 7 A 40. 3 A 40. 8
665 670 675 695 700 705 725 730 735 755 760 765



m=785, FV0=0

42.0

41.8

41.6

41. 4

—o—

M_W

T
785

7é0 7é5
m=910,n FV0=0

44.75 A

44.50 ~

44. 25 ~

44.00 ~

43.75 A

43. 50 A

—o—

M_W

T
910

T
915 920

m=815, FV0=0

42.4

42.2 -

42.0 A

41.8 A

—0—

M_w

T
815

850 8é5
m=945,n FV0=0

45. 25 A

45. 00 -

44.75 A

44.50 A

44.25 A

44.00 A

—0—

M_W

T
945

T
950 955

m=845, FV0=0

43.0

42.8 -

42.6

42.4 1

46.

46.

45.

45.

45.

45.

44.

—o—

M_W

T
845

860 865
m=985,n FV0=0

25 A

00 ~

75 -

50 A

25 -

00 A

75

—o—

M_W

T
985

T
990 995

43.

43.

43.

43.

43.

42.

46.

46.

45.

m=875, FV0=0

—o—

M_w

T
875

8é0 8é5
m=1045n FV0=0

—0—

M_W

T
1045

T T
1050 1055
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P3-6

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

05:50 273 150.0 2.583 F  BR1%e05:50 Ba1 (RAERSE)
06:30 273 150. 0 2.583 = {RRi8006:30 B (RAKEE)
07:40 273 150. 0 2.583 E BRi&e07:40 Bz (GRAERSE)
08:45 273 150.0 2.583 (Z=| {Ri%e08:45 Bzl (FAERSE)
09:25 273 150. 0 2.583 FR| 1B2i%@09:25 B3h (kB{EREE)
10:00 273 150.0 2.583 FA| 1B2i%@10:00 B3h (RABIERSE)
10:35 273 150.0 2.583 FA| 1BRi%@10:35 B3h (KRAERSE)
11:20 273 150.0 2.583 FA| {Ri%@11:20 Bz CGRAERE)
12:05 273 150.0 2.583 FA| 1BRi%@12:05 B3h (RAB{ERSE)
12:45 273 150.0 2.583 FE| 1BRi&@12:45 Bzh (GRAEREE)
13:25 273 150.0 2.583 |Z=| {Ri%e13:25 B (REEZEBE)
14:00 273 150.0 2.583 |Z=| {Ri&e14:00 Bz (REEZEBE)
14:35 273 150.0 2.583 |Z=| {Ri%e14:35 B (REEZEBE)
15:35 273 150.0 2.583 |Z=| {Ri&e15:35 B (REAEZEBE)
16:35 273 150. 0 2.583 |Z=| {Ri&e16:35 Bz (REAEZEBE)
2it] 4095.0 (15)%) 2250.0 3203 KEC: 2080.0, PH: 5.6

large discrepency for begining water status (294:135.0), set to 294 ml.
BE X 17 [o] /RECET B B k.

[E;&EC 6925.0 K5, EiIUFARECAER MitER

HE[ERECE (1773.0 vs 6925.0) i35

REREB I HEREC/PHESR R, RIRERIMAEELRTR



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=68 (2025-06-05)

LR S L i ittt E PPy
V1, VRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET - 3000

102
100 - 1900 [98851 5
50 - 1000
0 Warning: lcol [FVI',| "FVO’'] missing 99
0 -0

200 4 e vy — ME B30

150 -

100 A

50 A

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.6

Warning: lcol ['PHB’,| 'PHC’'] missing

o s 4000
Bylnlt:@D70 01:55: ET=2414 Fg=2850.0 Ro=623.0

400 + L 3000

- 2000
200

- 1000

———
0 [ 1 2 ] 3] 41 5] 6] 718 9 [10] 11 [12] 13141516 17 ] 18] 1920 [ 21 ] 22 23 | %000
B | i | B (2= 5 | [ | & | B [FA | BA [ FH [ FA | BA [P | BH | BA [P | BAH | B8 [P | BAH | BB | PH

ByEt @D68 19:33: ET=2556 Fg=1950.0 Ro=nan

400 + L 3000

- 2000

- /\
200 ———
- 1000

——o—© —
0Op—m—p—an o o S S 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 | 4000

B B | | Bl|zz(B | B | BB |2z AW | BB I|Z2=x|2=|25|8=|2=z[ B | B | B [2=5]|%=]| B
]
ByWon:@D7O 01:585: ET=1951 Fg=2250.0 Ro=442.0

400 + L 3000

- 2000
- 1000
1.0 = 0

0.8

1
1
200 ~ I P <
1
1
1

0.6

0.4+

0.2~

0.0

—_— 4
o | _obs
—@— PPFD obs

1500

1000 ~

500 -

80

—— RH
o RH_obs
RHo_obs

60 -

40 -

) e v P

-1)

©

FRV (ml

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



26.

26.

26.

26.

26.

25.

27.

26.

26.

26.

26.

26.

27.

27.

26.

26.

26.

26.

3

241 -~ ME
400 600 800 1000
m=600,m FVO=0
8
6 -
4
2
0
81 —e— ME
600 605 610
m=755,m FV0=0
01 —e— ME
g -
6 4
4
9
0
755 760 765
m=970,m FV0=0
2] —e— ME
0
8 4
6 -
4
2

970 975 980

26.

26.

25.

25.

26.

26.

26.

26.

26.

25.

27.

26.

26.

26.

26.

26.

217.

27.

26.

26.

26.

m=425, FV0=0

M_E

450 455
m=635,n FV0=0

- ME

6&0 6&5
m=805,n FV0=0

—o— ME

8%0 8%5
m=1035m FV0=0

805

-o— ME

i

1035 1040 1045

27.

27.

26.

26.

26.

26.

27.

26.

26.

26.

27.

26.

26.

26.

26.

26.

50 A

48 -

46

44 -

42

m=480, FV0=0
—o— ME
480 485 490
m=665,m FV0=0
c{)//f/rﬁd/a\h\h\b-c(}\::qoio
665 670 675
m=850,m FV0=0
—o MNE
850 855 860

- MW

ﬁ’gg

400 600 800 1000

m=553, FV0=0
26.75
26. 50
26. 25
26. 00
25.75 A
—o— ME
T T T
555 560 565
m=710,m FV0=0
—e— ME
27.0
26. 8
26. 6
26. 4
26. 2
T T T
710 715 720
m=890,m FV0=0
—e— ME
27.0
26. 8
26. 6
26. 4
890 895 900
m=425,m FV0=0
48.04 O~ MW
47.5
47.0
46.5

425 430 435




m=480, FV0=0

49.0 -

48. 8

48. 6

48. 4

48. 2

48.0

—— MW

T
480

455 450
m=665,n FV0=0

49. 8

49.6

49. 4

49. 2 -

49.0 -

—— MW

665

650 6%5
m=850,n FV0=0

50. 00 ~

49.75 A

49. 50 ~

49. 25 ~

49. 00 ~

48.75 -

—— MW

850

855 860

m=535, FV0=0

49.2 A

49.0 A

48. 8 -

48.6

48. 4 -

48. 2 A

48.0 A

—0—

M_w

555

5é0 5é5
m=710,n FV0=0

49. 75 A

49. 50 A

49. 25 A

49. 00 -

48. 75 A

——

M_W

T
710

7{5 7&0
m=890,n FV0=0

50. 2 A

50. 0 -

49. 8 A

49.6 -

49. 4 -

—— MW

890

895 900

49,

49,

48.

48.

48.

48.

50.

49,

49.

49.

49.

48.

50.

50.

49.

49.

49.

m=600, FV0=0

25 A

00 ~

75 1

50 A

25 A

00 ~

—— MW

T
600

665 6%0
m=755,n FV0=0

00 ~

75 1

50 A

25 A

00 ~

75

—— MW

755

7é0 7é5
m=970,n FV0=0

25 A

00 ~

75

50 A

25 -

—— MW

970

975 980

m=635, FV0=0

49. 50 A

49. 25 A

49. 00

48. 75 A

48. 50 A

48. 25

—0—

50. 00 A

49. 75 A

49. 50 A

49. 25 ~

49. 00 ~

48. 75 A

50. 4 A

50. 2 -

50. 0 -

49. 8 A

49.6 -

49. 4

M_W

T
635

6&0 6&5
m=805,n FV0=0

—0—

M_W

805

8%0 8%5
m=1035n FV0=0

—0—

M_W

1035

1040 1045
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P3-6

BYiE) | EBAK (R | EHE (EAR/HK) | ERERE (B/R) | XK R

08:15 273 150.0 2.583 = {RRiB008:15 Bz (RFAEEE)
08:55 273 150. 0 2.583 E  1BRi&e08:55 Bzl (RAERE)
09:40 273 150.0 2.583 5| {Ri%@09:40 Bz (FRAMERSE)
10:25 273 150.0 2.583 =l RRiB010:25 B (REAEESE)
11:05 273 150.0 2.583 =l RRiBe11:05 Bah (REAKEE)
11:45 273 150. 0 2.583 El BRi&e11:45 Bz GRAEREE)
12:25 273 150.0 2.583 =l {Rige12:25 B3 (RAERSE)
13:10 273 150.0 2. 583 Sl {Rige13:10 B3 (RAERSE)
13:50 273 150. 0 2.583 E| {Rig@13:50 B3h (RE{ERSE)
14:25 273 150.0 2.583 E BRige14:25 Bz CGRAERESE)
15:00 273 150.0 2.583 S| {Ri%@15:00 B3 (KRAERSE)
15:40 273 150. 0 2.583 E BRige15:40 Bz (GRAERESE)
16:25 273 150.0 2.583 E BRige16:25 Bz (GRAERESE)
17:25 273 150.0 2.583 =l 1Rige17:25 B3 (RAERSE)
21t 3822.0 (14)%) 2100.0 3EHKEC: 2080.0, PH: 5.6

RE X i [B] TRECHUR SR oK.

[E;&REC 6382.0 K5, EiNF{KECAE&M%ER
#[EKECZE (1780.0 vs 6382.0) 15
REXREBT I HEREC/PHE R K, FIREZINIRAELR R



FRV (ml plant-1)

P3-6_0, Day=67 (2025-06-04)

ET (ml/hr/plant)

ET (ml/hr/plant)

ET (ml/hr/plant)

150 e/ ————]
VI, VO, FRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2816 |- 3000
2400 448 -
i 1984 1
100 1700 773 2000 ©
409 E
50 1 - 1000 &
0 Warning: lcol [FVI',| "FVO’'] missing 0
0 -0
200 4 = vy — ME #30
FRV maxM
150 - 28
I-ul
100 A L 26 =
50 L 24
1.0 22
"
0.8 -
0.6 -
0.4 -
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 B
0.6 -
0.4 -
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.6 t
0.6 -
0.4 -
0.2 A
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
300 - Byinit 1eD70 01:56: ET=1652 Fg=2100. 0 Ro=440. 0 3000 &
£
o
- 2000 >
E
'—
- 1000 £
>
[&]
O T 112131415161 7 [8TT9T 0] i1l12]i31a]nBlie]i7]is]m 20T 2i]2]2]°
S0T™HE W [ w6 W | W | W | W6 | W6 | e | 6 | 6 | B | B | A% | A5 | A5 | #5 | M5 | m& | M5 | W& | B& | B | B | 3000 o
C
ByEt @D67 19:08: ET=2139 Fg=2448. 0 Ro=nan %’_
- 2000 >
E
'—
- 1000 £
>
[&]
0 1 0
0 1 2 3 4 5 6 7 8 9 [ 10 11 [ 12 |13 [ 14 ] 15 ] 16 | 17 [ 18 [ 19 ] 20 [ 21 | 22 [ 23
SOTH % [/’ [/ | % | B |/ | m | | & |/ | mk |6 | B |k | kB |6k | 6| & |6 66|66 B B s
| c
ByWoFv 1@D70 01:56: ET=1773 Fg=2100.0 Ro=473.0 =2
200 - 1 ) | o
2000 =
E
'—
- 1000 £
>
[&]
0

0.6
0.4+

0.2~

2808 - A

(] | _obs
—@— PPFD obs

RH
RH_obs
RHo obs

hour



26.

26.

26.

26.

25.

25.

26.

26.

26.

26.

26.

25.

26.

26.

26.

26.

26.

25.

T T
800 1000

m=585,m FV0=0

T
600

—o— M_E

7

560 565
m=725,n FV0=0

—0— ME

750 7é5
m=865,n FV0=0

-o— M_E

i
il

870 875

25.

25.

24.

24

26.

26.

26.

26.

25.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

m=455, FV0=0
5] —@— ME
0 .
5 -
0 .
455 460 465
m=620,m FV0=0
—o— ME
6 .
4 .
2 .
0 .
8 .
620 625 630
m=755,m FV0=0
87 —o— ME
6 .
4 .
2 .
0 .
755 760 765
m=900,m FV0=0
81 —o— ME
6 .
4 .
2 .
0 .

900 905 910

26

26

26

25

25

25

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

26.

25.

m=495, FV0=0

41

.24

.0+

.8

.61

41

M_E

560 565
m=655,n FV0=0

70

65

60 -

55 A

50 -

45 ~

40 -

—o— ME

657.5

T T T
662.5 665.0 667.5

m=785,m FV0=0

T
660.0

—o— ME

i

750 7é5
m=945,n FV0=0

-o— M_E

945 950 955

26.

26.

26.

26.

25.

26.

26.

26.

26.

25.

26.

26.

26.

26.

26.

25.

27.

26.

26.

26.

26.

m=540, FV0=0
—o— ME
6 .
4 .
2 .
0 .
8 .
540 545 550
m=690,m FV0=0
—o— ME
6 .
4 .
2 .
0 .
8 .
6€|)0 eés 760
m=830,m FV0=0
81 —o— ME
6 .
4 .
2 .
0 .
8 .
830 835 840
m=985,m FV0=0
01 —o— ME
8 .
6 .
4 .
2 .

985 990 995




27.

26.

26.

26.

46.

45.

45.

44.

47.

47.

47.

47.

47.

46.

48.

48.

48.

48.

48.

47.

m=1040, FV0=0

—o— MNE
0_
8_
6_
4 -
T T T
1040 1045 1050
m=540,m FV0=0
0 4 —— M_W
5_
0_
5_
T T T
540 545 550
m=690,m FV0=0
87 —o— MW
6_
4_
2_
0_
8_
690 695 700
m=830,m FV0=0
—o— MW
8_
6_
4_
2_
0_
8_
830 835 840

46.

46.

46.

45.

45.

45.

48.

47.

47.

47.

47.

47.

49.

49.

48.

48.

48.

48.

T T
800 1000

m=585,m FV0=0

T
600

M_W

5é0 565
m=725,n FV0=0

750 7é5
m=865,n FV0=0

725

-— M

|
ﬁ
E- [=2] (] o N E=N o
I I I I I I

865 870 875

m=455, FV0=0
—0— MW
43.5 A
43.0 +
42.5 ~
T T T
455 460 465
m=620,m FV0=0
47. 25
—0— MW
47.00
46.75
46. 50
46. 25
46. 00
T T T
620 625 630
m=755,m FV0=0
—0— MW
48. 4
48.2
48. 0 A
47.8 +
47.6
755 760 765
m=900,m FV0=0
49. 4 + —— MW
49. 2 +
49. 0 H
48. 8
48. 6
48. 4

900 905 910

m=495, FV0=0

M_w

45. 00 - -

44.75 A

44.50 -

44.25 A

44.00

43.75 A

47.

47.

47.

47.

46.

48.

48.

48.

48.

48.

49.

49.

49.

49.

48.

48.

48.

560 565
m=655,n FV0=0

8_

T T T
662.5 665.0 667.5

m=785,m FV0=0

T
657.5 660.0

8_

—o— MW

6_

760 755
m=945,n FV0=0

785

1T —e— mw

945 950 955



m=985, FV0=0

49. 8

49.6

49. 4

49. 2 -

49.0 -

48. 8

—o—

M_Ww

985

T
990

T
995

50. 0 A

49. 8 A

49.6 -

49. 4

49. 2 -

49.0 A

m=1040, FVO=0

—o—
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T
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T
1045

T
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P3-6

BfiE) | GEBAK (R | ERE (EAR/H) | ERERE (B/R) | XS EE

06:50 300 150.0 2.583 S| {Ri%@06:50 F iz (KRAMERSE)
07:35 300 150. 0 2.583 E  BRi&e07:35 Fa1 (RAERERE)
08:45 300 150.0 2.583 5| {Ri%@08:45 F 3 (FAAERSE)
09:40 300 150.0 2.583 S {Ri%@09:40 Fzh (KRAERSE)
10:30 300 150. 0 2.583 E BRi%e10:30 Fz1 GRAERERE)
11:15 300 150.0 2.583 S Ri%e11:15 Fzh (GRAERSE)
11:55 300 150.0 2.583 = RRiB@11:55 Fz (RFEAKEEE)
12:40 300 150. 0 2.583 E BRige12:40 Fz1 CGRAERESE)
13:25 300 150.0 2.583 5| {Ri%e13:25 F (RAERSE)
14:05 300 150.0 2.583 = RRiB@14:05 Fz (RFAEEE)
14:50 300 150. 0 2.583 E BRige14:50 Fz1 CGRAERESE)
15:40 300 150. 0 2.583 El BRi&e15:40 Fzh CGRAEREE)
16:25 300 150.0 2.583 = RRiB016:25 Fz (RFAKEEE)
=23t 3900.0 (13%) 1950. 0 3ZHKEC: 2080.0, PH: 5.6
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